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Mame ]%u Algzbra 2 Hamework 13-7
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The higtagram below shaws the distribution of heighte (ta the nearest inch) of {000 pousg wamen,
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I ‘What is the width of cach bar? What does the height ' the bar represent N
J0 upreen a4 Thid pihicglis heigint
Z. The mean of the gistribution of wemgn's heights is 64.6 inches, and the standord deviation is 2,76
inches. Inmerpret the meon and standard deviation in this contest. N L
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3. Mark the mean on the graph, crd mark ane deviation ahove and below the mean. Approximately
wihait propertivn of the values in this ithi inti
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curve that comes recsonably chise to passing through the midpoints ef the tops of
the bors in the histogrem. Descrite the shape of vhe distributioe, mﬂd &ﬂ{l i
v NOrd
5. Shedhe the crea under the curve fhat regresents the proportien of the data witiin ane standord
devigtion of the mean,
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6. Feriogically the LS. Mint checks the weight of newly minted nickels, Below is o histogrom of the
weights (in groms) of @ random sample of 100 new nickels,
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4. The meon and stendard deviction of the distribution of aickel weighes are 5,00 groms and 0,06

grame, respectively, Mark the mean an the hisr'n-gmm. Mork one stondard devigtian abowe the
o and o ctandard deviofion below the mean

HISD 5+.0l= S0 gt 5D Sl 9Y ﬁmmf
b. Degcribe the thaae of the distribution, Dras o smecth curve that comes reasanekly close $o
pagsing through the midpeints on the tops of the bars in the histogram. Ts this appraximatel o

rermal curve? gj{_h SHAPC IS s pgrmd |

o, Sacde the area under the curve that represents the propartien of data withinone standarg
deviatian ceove and below the mean. Find the prepartion of the dato within cne stomderd
deviation cbeve and Below the mean

O+ 010+ 10+ 5+ 14+09
= 70
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Homework Answers 13-3

1. Shape: Approx. Symmetric; Mound Shape 5. a.0.509
Center: ~75 b. 0.049
Spread: Range because ~ symmetric c.0.810

2. Math

3. RockReady

4. a.0.7123 ) %
b. 0.1151 w:%:)&&

c.0.0708
d. 0.6368
e. 0.7058
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Nﬂmﬂ...}éﬁg._—._._. — Algebra & Homewark 13-3

1. The histogram to the right shows the distribution of 31 Black  Heights of Black Cherry Trees
Cherry Tree heights, Describe the shape,
center, and spread (range or TQR) of this distribution,
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2. Anincoming freshman toek her college’s placement exams in French and mathematics. In French,
she scored 82 and in math 86, The overall results on the French exam had & meon of 72 and a
standard deviation of 8, while the mean math score was 68, with a standard deviation of 12, On
which exam did she do better compared with the other freshman?
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3. Two companies market new batteries targeted at owners of personal music players. Bura Tunes
claims a mean battery life of 11 hours, while RockReady advertizes 12 hours, Suppose ther
standard deviations are 2 hours for Dura Tunes and 1.5 hours for RockReady. You are headed for

8 howrs at the beach, Which battery is most Iikelz 1o last all dn:? Explain.

TV Tunes: RoucReady
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4. Find m
a, the area to the left of z = 0.56, 0.Slo 'r-” a‘?)
b. the area to the right of z = 120, — Emm . ”6'
NI

c, thearea fo the left of z = -1.47. ? E O_m

470

d. the area to the right of z = -0.35.
. — WA, 4368

e, theareq between z = -1,3% and z = 0.80. =35 (o)
<439 o 8 ,
5. Suppose that a particular medical procedure has a cost that is approximately normally distributed
with a mean of $19,800 and a standard deviation of $2,900. For a rendomly selected patient,
find the probabilities of the following events. Round your answers ta the nearest thousandth,

a The proﬂed&re costs between $18,000 and $22 000,

2= Ro00—1960_ _ _ _
5900 ol | W B

—pa\ O 159

Prob= 509

2: &aOED-.‘QWO -
34900 79

b. The procedure costs less than $15,000,

2= 500000
700 = I'WSB-,W(T\—
W= O
fomdede (A §mb=, 044

t. The procedure costs more than $17,250,

2= [7123D—|980 - —-g;?q
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QUIZ
Nles ¥ 1,35
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1. The U.S. department of Agriculture, in its Official Food Plans (www.cnpp.usda.gov), states that

the average cost of food for a 14-18 year old male (on the "Moderate-cost” plan) is $261.50 per
month. Assume that the monthly food cost for a 14-18 year old male is approximately normally
distributed with a mean of $261.50 and a standard deviation of $16.25.
a. Find the probability that the monthly food cost for a randomly selected 14-18 year old
male is
i. less than $280.

%:_380 —dl-50

a5 ~\0
,b axel e dE (-0 (.'> Y

= |14 Prob %1759

ii. more than $270.

2=311 -ab).50

lo-as wrw«\c&-e(. iy
= 53 va\o

iii. more than $250.

2= oD - | m
_91,10
norwele Ak((j Pr'i;ob 7611>

N0

iv. between$240 and $275.

M. 2= a40-abl. 50 = -|.32

lo.a5 m

a5 2= 215-3bl50 _ =13 AR O%

\\ofwm\‘c A€(A 32, o3 = @
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2. The USDA document described in Example 1 also states that the average cost of food for a 14-18
year old female (again, on the "Moderate-cost” plan) is $215.20 per month. Assume that the
& monthly food cost for a 14-18 year old female is approximately normally distributed with mean
$215.20 and standard deviation $14.85.
° Q a. Find the probability that the monthly food cost for a randomly selected 14-18 year old

9}' female is
i. less than $225.

2 =235-315.30 _
6 bb ) Kﬂﬂﬂ%ﬂ&
rorma B &Co, L&) = P*'ob had

ii. more than $250.

Q:M_ /\
s - a3 ,
nocmolcd&(2.3¢,10) = .34

ii. Between $190 and $220.

: %:BQ:F%\%%O' = -170
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3. Heights of women are normally distributed with a mean of 64 inches and a standard deviation of 3
inches. Out of 90 women, about how many women are 58 inches or shor'l'e,r? ‘ &«-‘ol "’1

2 3"(04_ - W(\

W( oaaﬁ) =a. osa ~Q women

4. Scores on an exam are normally distributedwith a mean of 80 and a standard deviation of 10.

Out of 150 tests, about how many students scored above 95?

2=95-%0 _ |5
|0

2 15, b
nNofee\ ¢ N )
1S0(.0L®) =10.08  ~10 Sugents

5. The mean score on the English section of a standardized examination was 471 and the standard

deviation was 89. If 12,000 students took the exam, approximately how many students scored
between293 and 5607

03 2=aR-411 = -2
%9 :;;WW@%
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. 2= DLO=NT) = | v
el & = rormalcaf ()= 3

13,000( 314)= 9828 Sndents
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